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In [ ]: dimport csv
import pandas as pd
import numpy as np
import matplotlib.pyplot as plt
$matplotlib inline
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In [ ]: def cov matrix(mat):
#H## 51

# mat: 1751
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In [ ]: def pca(X, k):
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from sklearn.datasets import load iris

iris = load iris()

X iris=iris['data']

D, P=pca(X_iris, 1) # 1XICICHER)
print(P)

plt.figure(figsize=(7,5))
plt.xlabel("1lst Principal Component")
plt.scatter(D[:,0], np.zeros(D.shape[0]),c=iris.target);

from sklearn.datasets import load iris

iris = load iris()

X iris=iris['data']

D, P=pca(X_iris, 2) # 2XTCICHEH
print (P)

plt.figure(figsize=(7,5))

plt.xlabel("1lst Principal Component")
plt.ylabel("2nd Principal Component")
plt.scatter(D[:,0], D[:,1],c=iris.target);

from mpl toolkits.mplot3d import Axes3D
from sklearn.datasets import load iris

iris = load iris()

X iris=iris['data’']

D, P=pca(X_iris, 3) # 3KJTCICHER)
print (P)

ax = Axes3D(plt.figure())
ax.scatter(D[:,0], D[:,1], D[:,2],c=iris.target);
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from sklearn.decomposition import PCA
from sklearn.datasets import load iris

iris = load iris()
X iris=iris['data']

# T TIEATDIEZEIZ L T2
model = PCA(n_components=2)
model.fit (X iris)
D=model.transform(X iris)

plt.figure(figsize=(7,5))

plt.xlabel("lst Principal Component")
plt.ylabel("2nd Principal Component")
plt.scatter(D[:,0], D[:,1l],c=iris.target);
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